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Resource Tables for Question 1

Max Demand
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P1
5
7
4
3

P2
4
2
1
3

P3
1
6
4
2

P4
6
4
2
3

P5
3
3
1
1

Current Allocation


R1
R2
R3
R4

P1
3
0
0
0

P2
1
2
0
1

P3
0
0
1
0

P4
2
1
1
0

P5
0
0
1
0

Avaliable

R1
R2
R3
R4

3
1
1
2

Sleeping Barber Problem for Question 5.

Consider two kinds of processes, customers wanting haircuts and barbers giving haircuts. For this problem, assume there is only one barber. The barber shop has one cutting chair and 5 chairs for waiting customers. Customers enter the shop if there is a waiting chair available. If the cutting chair is available a waiting customer takes the chair to get a haircut. Meanwhile the barber waits for customers to climb into the cutting chair and then cuts their hair. If there are no customers, as the story goes, the barber sleeps in the cutting chair until a customer arrives and the customer has to wake up the barber in order to climb into the chair for a haircut. In this simplified version assume that customers politely queue outside the shop if all waiting chairs are full in the shop. In the real problem, customers just go away if there are no waiting chairs.

